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OnpederieHue:

Norapndpmunyecknmm
HepaBeHCTBaMWN Ha3bIBatOT
HepaBeHCTBa Bnaa

roe a — NoNoXunternbHoe 4Yncro,
OoTNin4yHoe oT 1, N HepaBEHCTBA,
cBoAadLLMeCH K 3TOMY BUAY.



AJiropuTM

ellpua >1 f(x)>0,

g(x)>0, .
S(x)> g(x),

N

ellpuo<a<i1 .
J(x) >0,

g(x)>0, .
S (x) < g(x).

.




log 2x-4)>]log (14-x)

PeuweHue:
2x—4>0
114—x>0

2x—4>14—x



log: (2x-3)>log, (14 -x)

Pemmenue:
2x—4>0
114 —x>0

2x—4<14-x



log, (16+4x—x)<—4
2

. PeweHue:
_4_1081(2j =log,16
log: (16 +4x—x*) <log,16

16 +4x— > >0

16+4x— x> 216

\

16 +4x—x*>16
x(4—x)=0 0<x<4



ObnacTtb onpeneneHns:

No dopmyJia YciaoBua
1
y=log, f(x) J(x)>0
2
=1 b g(x)>0;
Y Ogg(x) {g(x) #1.
3 .
y=logg(x) f(x) 81>
18(x) #1;
| f(x)>0.




3agaHue anga 1 rpynneol

|
1) 10g2x24 3) 10g2x<5
|

2) 10g2x£—3 4) 1()g2x>—5



Ne |HepaBeHcTBa BapvaHTbl OTBETOB
1 log (3-2x)>-1 1) ) 2) (-1;1,5)
5 3) (= o03=1) U (1,5;+00) 4) HET peLleHn
2 1) 3] 2) (-=2)o[2)
log:(5x-1)>0 U
gg 3) [g;gj 4) HET peLLeHni
3 ]og3(2x+l)<]0g35 1) —%?m] 2) ( % j
3) |52 4) (2
4 log, (2x-1>log, (x+1) 1) (o) 2) Bz]
3) [2:+e0) 4) (-=2)




3agaHua gna 2 v 3 rpynnol

WY logl(x—7)>—%

. 2)
10g2(3 —2x) - ]0g213 <0

. 3)
log (x-D21+]log 2

. 4) 3
log;(x+ 2)-log,(x+2)> -7



CamocTtosaTenbHaga paboTa
ana 2 rpynnbl

. 1) 10g2(5x—9) < 10g2(3x +1)

 2) lg(x2 —8) <Ig(2—-9x)

- 3) 10g2(x2—6x+24)<4



CamocTtosaTenbHaga paboTa
ona 3 rpynnol

. 1) ]()gix > 410g2x—3

* 2) 10g2x2—1510g2x—4 <0

+3) log (7-x+log x=1+log 3



1)

2)

J\

log Gx-9) <log (3x+1)

5x—9>0
3x+1>0
Sx 9<3x+1

lg(x

x —8>O
2—-9x>0

x —8<2-9x

N

x>18

|

2

x>1,8

2x<10

x>8

2
1 X<

9
k‘)(32-|-9)C—10§0

9

8) <lg(2 - 9x)

x>2J_
X < —2\/_
2

X< —
9

-10<x <1

1,8<x <5

-10 wa<—2J§



2

3) logz(x2—6x+24) <4

(x%4h+24>0

x —6x+24<16

\

)
X — Jqroboe

x —6x+8<0

2<x<4



1) logjx >4]og x-3

2
log x-4log x+3>0 log x=t
2
{ —4t+3>0
<1
t>3 x>0
| < __
_ x<2 O<x<?2
iog2x<1 rx>0 x>8
x >3 < _
108, _\x>8







3
3) 10g2(7 —X)+ logzx > 1+ 10g23

log x(7-x)2log 6

x(7-x)>0  [0<x<7 0<x<7
9 4 9
xX(7-x)26  |-x +7x-620 [1<x<6




[lomalluHee 3agaHune

| 2pynine: Ne1576-1577(s, 2),
o/l epynine: Ne1578-1583(2);
/Il 2pyrine Ne1584-1589 (2).



